Laboratory Quiz 3
Biogeochemical Cycling

Samples only Trees and Carbon

1.
The process of photosynthesis converts carbon dioxide, water, and sunlight energy into


a) sugar and oxygen.


b) water and oxygen.


c) oxygen.


d) carbon and oxygen.


e) methane.

2.
Allometry is the study of


a) the carbon cycle.


b) carbon sequestering.


c) forest ecosystems.


d) relative growth of parts of an organism.


e) the greenhouse effect.

3.
The reason that we measured and took wood samples from the 5 reference trees was


a) we needed to estimate the mass of a tree’s root system.


b) we needed to verify that the equations we were using were valid for our forest.


c) we needed to know the age of the trees.


d) that they were the only trees in our 10 m x 10 m plot.


e) There was no reason; we just like chopping down trees at KSU.

4.
The percentage of biomass in a tree that is carbon is about


a) 15%.


b) 30%.


c) 45%.


d) 60%.


e) 100%.

5.
This study found that the amount of carbon sequestered in an acre of forest on the KSU campus was about


a) 100 kg.


b) 1,000 kg.


c) 10,000 kg.


d) 100,000 kg.


e) 200,000 kg.

6.The effect  infrared radiation trapped in the atmosphere is called-------

a) infrared

b)night vision effect

c)carbon effect

d)greenhouse effect

6.Trees will play an important role in global sequestering,however, worldwide, we are actually losing forest.
A )true

b) false

Carbon Cycling

(1.)
In this exercise, we indirectly estimated carbon dioxide concentrations in
solutions by measuring their


(a.) photosynthesis


(b.) respiration


(c.) salinity


(d.) pressure


(e.) pH
(2.) 
We investigated photosynthesis in this exercise with what organism?


(a.) Mung beans


(b.) Elodea

(c.) Phaseolus

(d.) Lemna

(e.) Paramecium
(3.)
The independent variable in the experiment involving Elodea was


(a.) solution nutrient concentration


(b.) distance from light source


(c.) length of time exposed to light source


(d.) presence/absence of light


(e.) presence/absence of respiration

(4.) 
Based upon this exercise, which of the following organisms would you predict 
would not carry out cellular respiration?


(a.) field mouse


(b.) whale


(c.) mushroom


(d.) oak tree


(e.) all of the organisms listed would carry out cellular respiration
(5.) 
Peasant farmers in the Amazon usually farm a plot of land for only two or three 

years before repeating the slash and burn process on a new plot of land further 
into the forest.  According to the online case study, why don’t they simply stay on 
one plot of land and fertilize it when the soil nutrients become depleted?


(a.) government mandates only allow them to stay on the land for up to 4 years


(b.) crops will not grow in the soil after 2-3 years, even with fertilizer applications


(c.) after 2-3 years the surrounding tropical forest will have grown over the plot


(d.) it is much cheaper to clear new land than to fertilize cleared land


(e.) banks will only give loans to clear new land, not to fertilize existing land

(6.) 
Peasant farmers in the Amazon are often forcibly evicted from their land by


(a.) cattle ranchers


(b.) loggers


(c.) anti-government rebel forces


(d.) government soldiers


(e.) banks and other creditors 

(7.) 
Which of the following should lead to a drop in solution pH?


(a.) placing an Elodea plant in a solution and exposing it to light for 50 min.


(b.) placing mung bean seeds in a solution and letting them sit for 50 min.


(c.) placing an Elodea plant in a tube, wrapping the tube in clear (transparent) 
plastic, and exposing it to light for 50 min.


(d.) a and b


(e.) b and c


Note: you can alter this Q by changing the tube wrapping to an opaque 
substance, thereby making the correct answer “b and c”.  

Biogeochemical cycles
1.If all the Faculty, staff and students at KSU 9about 20,00 people) had the same annual carbon dioxide emissions as you, approximately how many acres of forest would be needed to sequester these outputs?

a) 100

b) 500

c) 7500

d) 60,000

e) 20,000

2)Eventhough the Bush administration has decided not to sign the Kyoto protocol, everyone believes that “carbon credits” is a good idea.

A) True

b) False
